. Mazar-e-Fakhri is situated in which of the
following district?
TR-T-wEh Fer & & i frer o fem 82
(a) Jaipur/SEAgY

(b) Bikaner/sftmR

(¢) Dungarpur/gTRg<

(d) Sawai Madhopur/&aTé HIEN (c)
. The launch of which of the following missions

of ISRO was rescheduled?
i § ¥ 300 & F-R faem = dre Euita

( Rfvreyer) femar wm?
(a) GSAT-11 (b) GSAT-6
(c) GSAT-10 (d) GSAT-12 (a)

. Whatis the rank of Rajasthan in India according
to World Bank's "Ease of Doing Business"
index?

fava d& =t I offw g faemm” R &

IMAR WRA § Toeer it Yo @ €7
(a) Second/gEd (b) Eighth/3i3st
(c) Fourth/=ieff (d) Fourth/&&t  (b)

. In which of the following year Patent
Information Center (PIC) was established in
Rajasthan?

e & | for o o ToRe™ ® W gEA &
(PIC) <Rt TATU=T &l g7

(a) 1998 (b) 1999

(c) 2000 (d) 2002 (a)
. What is the name of the onestop solution

launched by the Government of Rajasthan for
startups and venture capitalists?

TSR AR BT el fent 71T SR TIe oA
TN W E, LT T Fov Rfere & fow ¥
(a) Istart (b) Business start

(c) Money start (d) Rajasthani Support (a)
. In which of the following cities, DigiFest was

organized to promote IT activities and startups
during the year 2017?

T 2017 & g IT e 7 =t @
AT A & fou fefrde &1 s P A R
forT oY ¥ fomar Trr?

10.

11,

(a) Kota and Udaipur/&a & ITqR

(b) Kota and Jaipur/®ia & SR

(c) Kota and Ajmer/®tal & 3TFR

(d) Kota and Jodhpur/®iel @ YR (a)
What is the name of the e-mail service of the
Rajasthan government, which allows users to
create their e-mail addresses in regional

languages and in Hindi?

TG AR S 3-Uet |ar &1 &0 " ],
fs o @ 3T §-Oer GRw g e ¥ @
fort & s @ gl @ 872

(a) Hindi Bhasha Mail  (b) RajMail

(c) MeriBhashaMail (d) RjMail (b)
Which of the following government applications
is the source of information on India's missions
abroad?

et o ¥ w-H AR TEHehy 9 @ el
¥ ot 1@ o Wt g W €2

(a) GARV App (b) NarendraModi App

(¢) MEAindia (d) Incredible India (c)
When was the National Rural Livelihoods

Mission (NRLM) started?
T TTHT 3nrsiifaen fae™ (NRLM) & &a

& foRar mar?

(a) 2011 (b) 2015

(c) 2013 (d) 2016 (a)
In which of the following city is the headquarter

of Microsoft located?

et o @ T vree ¥ AighGe o g fea
&7

(a) Washington/aif¥iwed  (b) Florida/wAfte

(c) New York/=gai® (d) Toronto/2R=1  (a)
Printing ribbon is used in which of the following
types of printers?

frer ¥ & fore wae & fifew o fiifen Raw o &
3Tl 82

(a) Plotter/leX

(b) Laser printerfﬁ?f{ o=t

(¢) Dot matrix printer/Si¢ Afgea fa=X

(d) Inkjet Printer/gesie =X (c)




12. What is VVPAT?/VVPAT &I &7
(a) Voter Verified Paper Audit Trail/aet afteEe TN

affee 3

(b) Voting Verified Poll Auditing Trail/afen aftwEe
e afefén @

(c) Voter Verifiable Paper Audit Trail/awRX AREETEA
YR 3fee oe

(d)None of these/3TH A 1§ T8l (©)

What is 'Lakshmi' in the context of Reserve
Bank of India?

frord i aife gfvear & W d ‘e’ @@ R
(a) Crypto currency/fsFe Cacl

(b) Software/STHaIT

(¢) Locker facility/afa gfaen

(d) New Savings Account/Ta1 s=d @Il
“Divyang Sarathi” is/“faein wweft” §
(a) Mobile Appﬂﬁaﬁﬂ L4

(b) Mobile ambulance/miaTEa TEHH

(c) Internet portal/F=TIe B ICi

(d) Rehabilitation Center/gTaTd 5 (a)
Which satellite has been launched by ISRO

from Sri Harikota with the help of PSLVC-39?
ISRO T PSLVC-39 #t Wag A 4t giehrer &

13.

()
14.

;-

HIEN STUE VI W4T §?

(a) IRNSS - 1G (b) IRNSS - IH

(c) IRNSS - 11 (d) IRNSS - 1J (b)
16. In which of the following were the social ideals

of Mahatma Gandhi first published?

HETeT WE & At eyt weugw feRww

vt feRu T &7

(a) Hind Swaraj/fe= @Tst

(b) The Story of My Experiments with Tooth— An
Autobiography/g Rt 3% W Taufided fag
2 - T ATt

() History of the Satyagraha in South Africa/f&&}
A T GAUE W 37 TISY 3T

(d) The Bhagavad Gita according to Gandhi/T &g
e STRifET 2 T

()
17. Ajanta caves are related to which of the
following?

Tﬂﬁwﬁmﬁﬁwwﬁmm
qe?

18.

19.

20.

21.

22.

23,

(a) Ramayana/THrE"

(b) Mahabharata/JeTHIT

(c) Jataka tales/sTad FL

(d) Panchatantra stories/da el (¢)
Who broke AB de Villiers' record of becoming
the fastest to score 8000 ODI runs?

T o &t faferad 1 wE@ A 8000 ODI ™ T

= Rt feram disr?

(a) Virat Kohli/fse sreet

(b) Hashim Amla/gIRE 3THAT

(c) David Warner/efa@ it

(d) Steve Smith/=a & (a)

Which of the following books was not authored

by Munshi Premchand?

foer A Fepwr T @ TR Rt Srwreig T &2

(a) Gaban/Ts (b) Mansarovar/AEUET

(c) The Guide/< mMgE  (d) Godan/TEHA (c)

Which is not included in national income?

Tfies ama ¥ foraent witafora T feran trar ??

(a) Sale of a firm/Th w4 w1 fasd

(b) Salary of employees/®H=IAT 1 ELE|

(c) Exports of information technology sector/{[=
Nt &3 & i

(d) Sale of land/sIfH 1 faera (d)

The world's first metro system to get Green
Certificate is-

i aféfrde e & aret fava @t vam 32
woTett -

(a) Jaipur Metro/SITqR B2t

(b) Delhi Metro/feeeft 72

(c) Chennai Metro/==§ ¥l

(d) Mumbai Metro/T=1g A2t (b
Booting instructions are stored in:

gfeT ey wufea & R

(a) Floppy Disk (b) ROM

(c) RAM (d) OS (b)
Software programs that can be legally compiled

and generally used free of charge are called __.
wivzdar wam feer wep A W At
M W § 3l swwd T frges saa
T ¥ 3N e T 8

(a) Shareware/SEd™  (b) Firmware/FHaa
(c) Mindware/ATggaaX

(d) Public domain/afeTsh SHT

oooooooooo

(d

e




24.

25,

26.

27

28.

29,

What is the data processing cycle made of?

T WATET o ford = 87

(a)Input and output cycle/gT3e I AEIYLE THh

(b) Input, output and processing cycle/sT9e, 3G
3 WA =%

(¢)Output and processing cycle/3TSE 9 TrafET
sh

(d) Output cycle only/shad RIS =k (b)

The conclusions drawn from processed data and

information are

WRHE 22T F TR A Tt € a7
T

(a) Information set/STHIAYA W

(b) Knowledge/dI&st

(c) Raw data/Tf €1

(d) Statistical data/Rfefewa a1

A transaction file stores:

(a) Data that rarely changes/S[2l Sl ¥¥R & &+t
STl B

(b) Data that never changes/STel Sl ¥l &1 F&eAdl

(c) Data that changes frequently/STe1 ST 3TARR S&eT &

(d) Data having error/er1 fad werdt & (c)

With which extension is the database saved in
MS Access?

T T T e R TR 3 e

(b)

(a) .msa (b) .dbm

(c) .mdb (d) .mss (c)
PDF is short for ___

PDF W LRI B

(a) Printable Document Format/fieaer g‘h{ﬁz TS
(b) Portable Document Format/Tisiel SfeRIHE THiHe
(¢) Printable data format/fieser g1 wite

(d) Portable Data Format/S3ael ST HiHe (b)

The first layer of the Open System
Interconnection (OSI) model is

AT e e (30 ww and ) Wew W
UEE R R

(a) Physical layer/frfSea wrax

(b) Link Layer/feish R

(¢) Transport Layer/g-aui &R

(d) Network Layer/eas oaX (a)

30. Which of the following is the first commercial

31,

.

33.

34.

35,

36

web browser?

Fefafes & @ @ W weer =EatE 3w
WSS 72

(a) Mosaic/HiSi®

(b) Mozilla/mifstem

(¢c) Netscape/4ewhy

(d) Internet Explorer/$2iie uaawing (c)
The size of IPV6 address is:

IPV6 TSH ohT WA ErT §:

(a) 264 bits/faZq (b) 128 bits/faew

(c) 64 bits/feed (d) 32 bits/faed (b)

Which protocol is used between e-mail servers?
3, Ut Wt o U HITET WiETehict o | 37l §72
(a) FTP (b) MTMP
(c) HTTP (d) SMTP (d)
shows recently visited websites and

web pages.

T € W TCH T dewrge UE a9 Uit
TgTtar Bl
(a) History/f&&t
(c) Status bar/R2d IR
(d) Brazzers list/sTsR foree (a)

An organization that works to make it possible
to receive and use Internet services and
participate in them is called

T T W 3= AEnh #F W T TR
HT & (AT 9 I AT A WWE S @ T
& A T Fget ¢

(a) Network Hub/~2a& &«

(b) Internet Consortium/3eE HIHRIEHH

(¢) Internet Service Provider/see afdw diaEeX

(d) Telecom Consortium/f&hTH HERIET  (c)
'Ethernet' is another name for?

e’ frment WA W }7

(a) Local Area Network/@ehel TRAT "eaeh

(b) Metropolitan Area Network/3griffere Tftan gecCy
(¢) Wide Area Network/aTzs fan Feas

(d) Piconet Area Network/fihie i Ie5F (a)

(b) Taskbar/rEheTX

. The speed of Ethernet is generally

TUTNT F aTEE: T g €
(a) 64 Kbps (b) 64 Mbps

(c) 10 Kbps (d) 10 Mbps (d)




37. If you omit then the stylesheet file will
not be loaded by the browser.

oy T .........c.... AT IS e § A e

wE WIS G wArs TE it e

(a) REI (b) STYLE

(c) BODY (d) HTML (a)
38. Which of the following are container tags?

T A HewT 3 &7

(a) <SELECT> (b) <VALUE>

(¢) <INPLUT> (d) <BODY> (d)
39. Which attribute is used to show hyperlink in

anchor tag?

TR 23 W gEWivis = foam & fag s

wEege & o o s 37

(a) HREF (b) SRC

(c) LINK (d) HYPERLINK (a)

40. A G.LF. (Graphics Interchange Format) The
small program embedded in the image is called-

T& G.LF. ( Wfhes gete wie ) 309 § of:

wIiUe Bie WU & wEd §-

(a) Web bug/aa &

(b) Cookie/=aht

(c) Spyware Application/SEaa TETHIHA

(d) Spam/eiw (a)
41. Saving a file on computer from internet is called:

T W UH WA ol wRgE W /G T

TheArdr %:

(a) Downloading/sTSqaifen

(b) Uploading/3Taaifen

(¢) Storing/=fGn

(d) Weblinking/dsfeifam (a)

42, Uniform Resource Locator refers to which of
the following?

i Rerd drshet freforfias & ¥ frme bad
22
(a) Computer resource/® et faid

(b) Web resource that specifies its location on the
computer network and the mechanism to access

it/d fTErd Sl 39 Frget Yoas W @M 5 3q
T TEa & o 7 sfeafem (specify) s &
(c) of the printer on the network/¥2a&® W fyer =

(d) Storage server on the network/A2e W W
Tl (b)

43. Which part comes after execution in the
electronic market trade cycle?

FORITeh Ahe 3 WEhet A vy @ e
WITET WO e §?
(a) Pre sale/st €& (b) After sale/amex g
(¢) Settlement/HTeH (d) Negotiate/+ifire (c)
44. Which is not an example of G2C seryices?
W W G2C Waredl T I T 42
(a) E-VizZ-d19
(b) E-Transportation/g-2ieieeM
(c) Digital Police Portal/fsfes qfera wiée
(d) E-bay. community/3-d, Fegfh
45.EFT s :
(a) Easy four taxes/$sil &R 299
(b) Easy Fund Transfer/$sit %€ 2wt
(¢) Electronic Fund Transfer/seiaite % TAHR
(d)Electronic financial transaction/satazife

(d)

HIEAIRTIA ST (©)
46. A malicious program that does not replicate on
its own:
TF AUl SRYT A AT T W S s
I | Trgha &
(a) Trojan horse/2rsH &4 (b) Worm/ad
(¢) Zombie/Sire (d) Virus/a&™ (a)

47. XLL definition is used with XML to refer to:
XLL definition 3fteifaa &= & fom XML &
(a) The datatype of the content of the XML
document/XML EfeFHe & F=2< ®I SeREY
(b) Structure of the XML document/XML iz
H |
(¢) Display of XML document/XML S 1 T¥H
(d) Link with other documents/38t SlERUES! % Y
D (d)
48. Which of the following is not a search engine?
T § ¥ @ wet g @ 87
(2) Yahoo!T& (b) Bingo/fl
(c) Google/TTTe (d) Windows/ffet (4
49. The search engine which takes input and

transmits the query for results to a third party
in parallel is:

et o < g S T & A
* TR @ frg w4 v w g, &

e




50.

51.

52.

33,

54.

-1

(a) Advanced Search Engine/TSaTH W9 351

(b) Meta search engine/H21 |4 §5H

(c) Search Tool/9d <&

(d) Boolean search engine/dfera™ &= $57  (b)
Search results are usually displayed in a line,
which is called

wet aRoTw W TRy @ee | g9 W g,
i wea

(a) Tag list/3n feree

(b) Search engine result page/8= &5H fo= s
(c) Search engine page/Td 351 U

(d) Category List/l fae (b)
Which of the following is not a recovery technique?
e ¥ | s et aote T8 82

(a) Deferred Update/?ch_\c:'F 3T

(b) Immediate Update/3fufsue smqez

(c) Two-face commit/Z-%¥ HfHe

(d) Recovery Management/f@eadl B9z (c)

The statement which is automatically issued due
to any modification in the database is called

g R S 30 21T SeTe | foret Aifsfraem
& &rur frla g €, wEerar €

(a) Assertion (b) Triggers

(c) Referential constraint (d) Insertion (b)

The underlying part of a database that restores
the state before a failure is called:

fortt Sreram o srafifea W S fonelt Bt &
ugel it Rufa § e otar &, segon &

(a) Recovery Scheme/f@at &hid

(b) Backup scheme/Siea1d @hig

(¢) Restoring scheme/f2IT wHH

(d) Transaction Scheme/ZIaRTT ThIH (a)

Drawings, photographs, movies and simulations
come under the category of

Wﬁm@maﬂ?ﬁqﬁ?ﬁ

guit & 3l 31

(2) Animation/THERHE  (b) Image/38s

(¢) Graphics/mfwag (d) Text/ZFe (c)
Vector and are two types of computer
graphics,

FART 3w A THR F HET Aieaw &
(a) Scalar/&hert (b) Sector/qaR

(¢) Rector/3ax (d) Raster/T&=X (d)

56.

57.

58.

59.

The ratio of vertical points to horizontal points
and vice versa is called

e faget & it Rigell & s sl e
faudta =t =gt =

() Bitmap Ratio/feeHu arum

(b) Aspect Ratio/3T @2 I

(¢) Indicator Ratio/q=e 37U

(d) Resolution Ratio/Heq S (b)

A technology that allows brick and mortar retail
stores to send messages directly to their
customers' smart phones is

Teh UMl dahriieh S &iteh U et 2w €N (brick
and mortar retail stores) T 3707 g & L
F U Y Ry S W sl ot § 9% -
(a) Beacon/sTe (b) Bitcoin/faesiza

(c) Business CRM/fSsrd & AT,

(d) Big Data/fam =1 (a)
A facility that allows consumers to buy the
goods they want to buy online and pick them
up from a physical store, so that they can enjoy

the convenience of e-commerce and the
benefits of physical retail outlets. He is

e geer St SuseEel @, @ awd W@ @ &
GUET WEd € IRl ATTET Wiy § 3
TRl W offds ©R (TwM) & @ 9N @t
3rmfa It 2, arfeR o S-anind =t glaen 9 sifas
TGO THEN & @Al U7 TR 98 @
(a) Click and send/foe% wg ¥g

(b) Click and Purchase/foeer woe 9=

(c) Click and reserve/fae® s fisd

(d) Click and collect/fFet Tug FHerae (d)
By connecting different types of devices,
machines and sensors through internet, the
facility of providing the same data to brick and
mortar (brick and stone) stores, which is

available with online stores, comes under the
following technology.

T verr & Teargam, wolRi el Fw &t g=ve

BT Srga fove T Welt ($2 T ueR ) Wi A
aﬂm@mﬁ@?@ﬁ%m%aﬂmﬂﬁ |
% gt Prfafea daie & a8
(a) Artificial Intelligence/3Teifh erae gefersia
(b) Deep Leammgf?ﬁ'q At

(¢) Machine Learning/m¥fi S

(d) Internet of Things/$ZTe 3ife furd (d)




60. Which of the following is not a Java code editor?
Prerfafas ¥ ¥ Sar war @ wfEer w27
(a) MS Word (b) Netbeans
(c) Edit + (d) Notepad (a)
61. Which of the following is not a feature of a GUI
that makes it easier for users to learn a program?

T Y HA W GUI Ft Fadiar 72 & S Suanendiet

& oo & Wiam drEr e e 872

(a) WYSIWYG Formatting/®Tdfem

(b) Dialog box/STI@IT Sl

(¢) Detailed key strokes and commands/f&ga il

Tie 3R 3R

(d) Icon/3TEhA (©)
62. Which property in Visual Basic determines

whether a control is displayed to users or not?

forseret aft & @ o Wuet ug Fruifa we

o STRITERAtsT ® were wefyta ferar ST € =

TEi?

(a) Show

(c) Visible
63.

(b) Display
(d) Enabled (c)
audio/video refers to on-demand
requests for compressed audio/video files.
__ ifsm/<ifeen wdtfea siffea/difear wigat
& oo af-femis e it wefifa wwar 1
(a) Streaming Stored (b) Streaming Live
(c) Interactive (d) Mixing (a)
64. For real-time traffic ____ buffer is required.
FrEATaEH T (real-time) R & faqg
T IEATTE T
(a) Reordering/qiedazen (GaArgfin)
(b) Playback/=iesh
(c) Sorting/Srg (Hifem)
(d) Broadcasting/J9RUl (SigaIfET) (b)
65 A . . converts the format of a high

bandwidth video signal to a low quality narrow
bandwidth signal.

WTEYT i W UTE A Geot Fefagy fome
¥ gget 21 2

(a) Serial number/HY F&

(b) Timestamp/ZHRE

(c) Translator/Jae&R
(d) Segment/HTHZ

66.

67.

68.

69.

70.

71.

—

What is the missing number in the following seri

Frefafaa sjaen ¥ faera v = §

0, 6, 24, 60, 120, ?, 336

(a) 210 (b) 220

(c) 240 (d) 280 (@)

In a certain code language “Great solution tury
plan” is written as “&TS #N8 @N4 %N4” |,
that code language “Tamilnadu” is written ag
T WH Hg W A “Great solution turn plan ”
W “&T5 #N8 @N4 %N4” Torar wmar & ot
W AT ¥ “Tamilnadu” R for@n smom

(a) #u9 (b) &T9

(c) @U9 (d) @T9 ()
Choose the correct number for the series
gruit & foe W@t TR & A Hifwe

30,90, 182,306, 462,?

(a) 650 (b) 678

(c) 615 (d) 580 (a)
How many parallelograms are there in the

following figure?

frer emerfa # forem wuT ol 2
b
o

\ \
A

(a) 12 (b) 24
(c) 30 (d) 60 (d)
Which folk theater of Rajasthan is known as

“Meru Natya”?
TSR T IF-TT ek ST “Wis e ” & ™

¥ A AT §?

(a) Bhawai/¥aTg (b) Thought/@ATd

(c) Gawri/Terdt (d) Tamasha/@a®T  (c)
As per the recent announcements which new

free facility has been started for heart patients?
e €1 ¥ 3 7§ Wreumedl & U &
e - 7 Frges i @ e e
T §?

(a) Angiography/Tf<m=iae!

(b) Heart transplant/5d FARITU

(c) Room cleaning/®&® WHIE

(d) Stomach replacement/S T FeTeT

(a)




72. Which of the following pair is not correctly

73,

74.

73,

76.

77.

matched?

Profefea § ¥ @ gw adt gafa T €2
Praja Mandal Founder
TS TS
(a) Sirohi/fa@ Gokulbhai Bhatt
THRE TR E
(b) Karauli/&et Trilokchand Mathur
EGIEa SR
(c) Jaisalmer/SreTR Mithalal Vyas
Hige =19
(d) Alwar/3Te= Ladaram Vyas
TARNH ™ (d)

Which of the following field is related to Meera
Award?

frer § ¥ FAT &9 W R ¥ g 82
(a) Literature/died (b) Handicrafts/g%f¥eq
() Hlustration/f==m1 (d) Singing/TMaA (a)
Where the soils are renewed naturally every
year. That area is

et ufsad wrefas w0 | gt & T
o &, 9® &7 2-

(a) Bhabar region/sTat 3291

(b) Terai region/a<is o

(c) Bangar region/al" 291

(d) Khadar region/@RY 9391 (d)
In which of the following year 'Hurda
Sammelan' was organized?

FTST A T A e # | o ad
ma?

(a) 1732 AD/1732 % (b) 1733 AD/1733 &
(c) 1734 AD/1734 & (d) 1735 AD/1735 %.(c)

The cut ear and 'jata' are the introductory
symbols of which of the following?

we T FA a4 ‘e’ e # | frae e
vl e 2

(a) Gurjarf{ﬁﬁ

(b) Aughad Jogi/3irerg it

(¢) Rawal Jogi/Tad iU

(d) Meena/wt=t (c)
What is the new loan interest rate to be charged

from farmers by cooperative land development
banks from January 1, 2018?

78.

9.

80.

81.

82.

83.

T& WEdt 2018 § wgmw yft fawra d=f gro
foramt & et s et =8 o s gv T 7
(a) 6.5% (b) 6.7%

(c) 5.5% (d) 5.7% (*)
Which year is taken as the base year for WPL
in Rajasthan?

T ¥ WPL & fou e af fvm o =t

forar wmar #?

(a) 1999-2000 (b) 1995-1996

(¢) 2004-2005 (d) 2008-2009 (a)

With which sport is Kachanar Chowdhary

associated?

FHIAR S W ey fRe e ¥ §?

(a) Shot put/¥iie 4

(b) Badminton/aefie

(c) Swimming/3Teht

(d) 100 m. race/100 H. 3 ()

Who has been called 'Hindu Olympus’' by

Colonel James Tod?

wia o 2 ¥ R sioww’ fea v €7

(a) Todgarh/2feTg

(b) Plateau part of Upper Mal/&9THT&l 1 I3 91T

(c) North-Western desert/3W-UR=Hl A&

(d) Mount Abu/A1392 AT§

Pipalpanna is-

draera=T §-

(a) Head ornament of women/f&ai & ot &1 amrequmn

(b) Ear ornament of women/f&al & &1 &1 3THUT

(c) Women's neck ornament/f&@l & & &1 anewor

(d) Waist ornaments of women/f&@i & &5 &1 A0
(b)

When was the Rajasthan State Road Transport

Corporation established?

T oY 99 aftags Fom @t o & g

(a) 1979 (b) 1964

(c) 1961 (d) 1971 (b)

Which of the following district is not directly

related to 'Mahi Gai Level Canal Pure

Drinking Water Project'?

frer # F @ faen A TE daw B I
Yoo WeEeE | ¥ WSy Y ¥ watua w87

(a) Rajsamand/Ts/@9=  (b) Chittorgarh/fademg
(c) Udaipur/3TaR (d) Dungarpur/TRE (d)

(d)




84. According to the new budget, what is the GST
rate applicable on slabs and tiles in Rajasthan?
IC T B ATER TRAN ¥ D § TF W
T A GST T W §?
(a) 18% (b) 20%
(c) 28% (d) 32% (a)
85. A question and two statements are given below

it. You have to decide whether the given
statements are sufficient to answer the given
question,

T W 9T St e 30 = T{u ww ) snraen
g 7w & R WA § Ry e wew wew @
T ]| & U matw §

What will be the result of Priya's secondary board
examination this year?

W oo 1t weafas & witen w1 ofom a0
Brm?

Statement/&h<A:

1. This year the question papers of Secondary Board
Examination were very easy/sq o Wiegfiyas o
T % W TS W e 9

2. Most of the students who appeared in the secondary
board examination passed/qrftE s way N
afefed €9 e stfueian faeneft <<l 2

(a) Statement 1 alone is sufficient/saa Foq | g

.

(b) Only statement 2 is sufficient/saal 4 2 93
2l

(c) Both the statements 1 and 2 are necessary/SHt
HT | T 2 AETF 2

(d) Both the statements 1 and 2 are not sufficient/
A FUF 1 991 2 garg & 2 (d)

86. The angle subtended by the segment belonging
to the force at the center is:

T/ Halftm @ve gRT g W armiE W

Other/3A9
17%
Veteran/SaEd 6%
Military A Interest on Debt/SaTS 99,
59% International/ 3T 904
(a) 210.2° (b) 212.4°
(c) 214.6° (d) 218.9° (®)

T —
87. How many numbers between 100 and 300 begin
or end with 2?

100 aﬂtsoaa}wﬂaﬁmﬁﬁw:-ém

WOV T T B 2

(2) 100 (b) 110

(c) 120 (d) 140 ®)
88. In which year was Karthik born? How many of

the following parts are enough to find out?

wfden ot s fonw wnd g TE T T @ fog

fre & & fra wm watw 2

1. Kartik is 6 years older than Mayur/sfia R Q

6 39 e 2B

2. Mayur's brother was born in 1982/7 &1 o
1982 H =1 o

3. Kartik's brother is 2 years younger than Mayur's
brother, who is 8 years younger than Mayur/ia
F AR TR H M W 2 4 g, e g
g & B ¥

(a) 1 ®) 1,3

©) 2,3 @d1,2,3 ()

89. The given figure shows the food preferences
of 1080 people of a town.

o ™ for @ @ w2 1080 R S @y 5
TS W v my 2

Chapaties/d2t
120°

The percentage of people who like Idli is-

S S SSeh veR w ¥ S vhwe 3

(a) 12.5% (b) 12.0%

(c) 15% (d) 10% (a)
90, If 6th February 2018 is Tuesday, then what day

will it be on 6th February 2020?

Al 6 At 2018 & WA ¢ A 6 WA

2020 =t wIT wr f=w gm?

(a) Monday/|maR (b) Tuesday/HTeTaR

(c) Wednesday/guaR  (d) Thursday/TeaR (d)

_
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91. In the given figure, in how many ways can one

92.

93.

reach from A to B by walking only along the
lines in the least distance?

fAMAT Y e ERicF A FR T d
e ET A ¥ B 7 fRaY WK | UES Hahd 87
A

B

(a) 2 (b) 4 (c) 6 (d 8 (c)
1000 candidates appeared in the comparative
examination of English, History and Science.
The number of failed candidates in different
examinations is given by Venn diagram. What
is the percentage of students who failed in any
two subjects?

3rsH, gfomra e fam ot qemTeTen Wi 3 1000
witget Sufiera g NE-IEHT yiteed ¥ sFEe
uRenfiat it wen a7 oM g & W {1 TRt
ot o ermwer wdieniiar wr ufaee ferar 87

English ‘ History
28 s
48

Science

(a) 0.9% (b) 9% () 0.09% (d) 90% (b)
Out of seven persons A, B, C, D, E, F and G,

three persons are to form a committee under
the following conditions.

Treafafaa il & e um sl A, B, C,

D,E,F 991 G ¥ & &I sarfeaat sl Uah |fifa @

Frtor &= 21

1. Either A or C or both must be selected/A 37251 C
Hua A 1 =TI 3TYT HT B

2.1If A and B are selected then the other must be
selected/af§ A GeM B 1 97 ¥l & af g&t &1
T YT FE 2

3. C and D cannot be selected simultaneously/C T
D 1 T& WY 954 T B W 2

If D is selected then which of the following can be
selected?

R D #1 w7 o en R 9 e @ ok Rege
A o -1 wewar €2

94,

985,

96.

97.

98.

(a) E,F (b)) C,E
(©) A, G d) A,B (d)
From the following alternatives, select the word

which cannot be formed using the letters of the
given word :

Frfafes freedt § ¥ o8 v g < iy w
T & G T WANT e Tl s S W

(a) STONE (b) NOISE
(¢) EMITS (d) NAMES (d)
A's rank is S ahead of B's, in a class of 46

students. If B's ??rank is 12th from the last
student, then what will be A's rank from the
beginning?

46 BT FI HAT T A & ¥ B ¥ 5 om §1 afe
B & Y& sifm o A 12 § A wrwr A A
Y& = gEi?

(a) 28 (b) 29
(c) 30 (d) 31 (c)
Two positions of a dice are shown below. If the

top is 5, what will be the bottom number?

o T U F @ feafaar fead T ) afy s

5 % @ e ®m € wen g
@
(a) 2 (b) 3
() 5 (d) 6 (b)
In a code language “INDIA” is written as

“KQIPK”. How will “JAPAN” be written in
that code language? '

T e AT o “INDIA” &t “KQIPK ” ferar
S &1 S w2 wrar ¥ “JAPAN” @t feran
T

(a) LCRCP (b) LDUHX
(c) LDTFT (d) LDUFT (b)
Pointing to an old man, Vijay said, "Usak's son

is my son's uncle." How is the old man related
to Vijay?

T g F 3T TN & gy fawra 7 =en fo
“Iarer qF W X T W &7 waRit 3¢ |t
fawra ¥ A dafim §7
(a) Brother/"T$

(c) Father/faan

(b) Uncle/aT=1
(d) Grandfather/</T1 (c)




99,

Find the missing number from the given
alternatives:

fe& m fawcdl ¥ ¥ @ Wem W witwa:
4 |12
K 32
(@) 1 (b) 52 (c) 70 (d) 104 (c)
100. Text Encryption is the  of text.
FE iR ST W __ #
(a) Compression/&H¥H
(b) Expansion/Ta4sH
(c) Scrambling so as to maintain its security/
Tl Wi SR GRET N @ S 99
(d) Hashing/2f¥mm (c)
101. A common type of public-key cryptography
method is ___ algorithm.
TH U WEAe-get et fafa =
U __ TSIREW #
(a) RSS (b) RAS
(c) RSA (d) RAA (©)
102. Which is not a characteristic of a good
algorithm?
FT W TENRE W Fadrear & §2
(a) Finite/®13AT32
(b) Unambiguous/3uffarzra

103.

104,

(c) Bull defined/s& fewr=
(d) Unordered/2M3iige (d)
Which of the following is a means of

graphically depicting the logic of a computer
program?

Frefafas § ¥ Srmr @ e sy vhm
* % @ @t @ e ¥ fafia a2
(a) Pseudocode/gstars

(b) Algorithm/TemfiEr

(c) Flowchart/%r =

(d) Source code/ard =is (c)

Which is used to choose one of the two
alternative routes according to the situation?
Rt % srER & dwham ot ¥ ¥ Rl T
Toeen = S & T e wERT R s 2
(a) Sequence/3IqHH  (b) Selection/fasiaeH

(c) Iteration/32XT (d) Logic/@is®  (b)

105.

106.

107.

108.

109.

)

NAT stands for:

NAT @ arqd ¢:

(a) Network address translation/Aza® uRy
TR

(b) Network Address Transformation/3eas LEcs)
TR

(c) Network access translation/3za% vy
AT

(d) Network Access Transformation/¥es% g
;mrﬁm (a)

What is the use of firewall?

WA W Wb IYET §2

(a) Filtering packets coming from the Internet/
B O e ety ——

(b) Filtering of packets going from internet to
intranet/$2THE ¥ $EHE W S amet eieg =
freet wem

(c) Filtering of packets going to the Internet/3e
R I o Y H fre &

(d) Ensuring faster movement of packets for faster
e-commerce/dS 3-%HME & fau YHem =
g aaE giHfyea s (a)

A network security system that protects

network resources by filtering messages at
the application layer is

T Feas faaaifet faew ot i Yeast v
= i eE e S iR @ Rt
& 5 W ¢ 9 T

(a) Packet filter firewall/3%he fireet wrEia
(b) Proxy Firewall/Siat wraRaial

() Stateful inspection firewall/F=5t SR BRRET
(d) Next-Gen Firewall/As=2-91 ®E@EA (b)
In object oriented programming An object is
an instance of "

3fsvae Aftu=e whfin ¥ ua i

& TH W (FET) B

(a) Class/F=mg (b) State/=Z

(c) Behavior/fRfrR  (d) Message/Has  (a)
The class members of a class in a C+*
program are by default:

C++ T & forelt e ( class ) & womd e
srsfewiee (fewiee 7 /) T4 &:
(a) Public/afssT (b) Protected/SHS

(c) Private/ursaz (d) Global/=iis@  (¢)




i

110. The concept of object oriented programming

111.

112.

113.

114,

115,

that allows a variable, function or object to
take many forms is:

g ftuT Unnfiin @ a8 SEUROT W
o IRATE, BT AT ATSAGE Fl HF BT ART
FA W FEAT WS w ¢

(a) Inderetines/sTeRed

(b) Hierarchy/ga@i

(¢) Polymorphism/difemithes

(d) State transition/®e ZiTSRH ()
Int arr [2] [5]; Declaration allocates
bytes.

Intarr [2][5]; feaorym ___ =1gew 3wefeq
HT 2N

(a) 20 (b) 10 (c) 40 d2 (a)
Which data type is not in C?
T 22T 28T C ¥ 7&T 872
(a) floating (b) int
(c) four (d) class (d)

The following two statements are equivalent

to n = *&q in C language. those are

statements

C diaw ¥ Feafafaa gt Rele n=*&q &

WY 8 at BeHe ¢

p = &q;

n=*p;

Which is equivalent to

W fs @ awew

(a) n=p (b) p=q

(c) n=p*q (d)n=q (d)
error comes from using incorrect syntax.

_ UW 7o Tadem & WA | It §)

(a) Compile time error/sh™ gt 2EY TR

(b) Linking error/faf®T TR

(c) Run time error/3d IEH TR

(d) Input error/39Z TX (a)

COBOL and Pascal are examples of
programming languages.

COBOL ¥ Pascal wfiT JEw &

IETEAOT

(a) Object oriented/3iesiae HfT=s

(b) Scripting/frfien

(¢) Structured/ZF=<

(d) Object based/3iTesiae a7 (c)

116.

117.

118.

119,

120.

The syntax analysis part of HLL in machine
language conversion is called

HLL & 39 wTar watavor ( weae ) & 1 fidew
TS (e T favder ) s @y -
HET AT R

(a) Parsing/arf&

(b) Lexical Analysis/aifasa wfaras

(c) Simatic Analysis/faafes wrfafag

(d) Linking/feifen (a)
The memory management scheme that allows
processes te be stored non-contiguously in
memory is

% Wia e 9o W WEe W wir ®

iR-wTe w9 ¥ wUfed w1 @i armia Il €
(a) Spooling/&JfeiT (b) Swapping/@ift
(c) Paging/dfsim (d) Relocation/da=her(c)

What is the use of Ctrl+right arrow?

Ctrl+right arrow T&® & T 3rar 27

(a) To move the cursor one word to the right/&E
F TF = T3 o I & faQ

(b) To move the cursor to the end of the line/&FH
F A D A H A TH & fag

(¢) To move the cursor to the end of the page/
FHH TS 3d T o 91 & fou

(d) To move the cursor down one paragraph/&&
F TF TS N W W ® fou (a)

Autocorrect was originally designed to

replace which words?

JHiEreae goey ¥ forg ol =t seem & T

AT AT 9r7

(a) Small, frequent visitors/8l2, SR-aR 3 ar&t

(b) Grammatically incorrect/SvTH €9 ¥ e

(c) Wrong Spelling/Tera &t

(d) Same/qqA (c)

Which feature of Word enables a person to

send the same letter to different people?

T3 Wi A At giawn uw Afam ot -3
A S WHE U Ao o 'q&m AT 2

(a) Macros/9sd

(b) Mail merge/ﬂﬁ TS

(c) Template/Z¥ie

(d) Thesaurus/#fERE (i) (b)

—
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awg g

(a) A* A A* (b) A, A% A

(c) A*, A A (d) A* A* A* (a)
124. Which of the following is not a part of slide

design? :

WU W HA W nge fewga = R @ §2

(a) Color scheme/T Al

(b) Animation plan/TTHEeH FST

(¢) Design template/fSse 2were

(d) Slide Layout/3iss @232 (d)
125. The objects on the slide which hold the text

are called

TFE W & Sfectagq o SR 7@ &, Feema §

121. In MS Excel we cannot hide 2

R

MS Excel ¥ 9 foar (g¥8) & "l
(a) Row/Q (dfer) (b) Column/sie™
(c) Sheet/¥it2 (d) Range/Ist (d)

122, Which of the following types of charts is

suitable for showing the ups and downs a.nd
progress of the stock market on a daily basis?

Frerfefea TarfeEl (=) & wani § @ o
TR W W fe w7 4 9 W &
TAR-TGE A Wt guiy = few suged ]7
(a) Column chart/&eT =

(b) Row chart/q I@

(¢) Line chart/emgT =

(d) Pie chart/as =@ ©) |
123. Formula = if (BS) 100, If 'A',A*' is written in

cell CS and the numbers 75, 150 and 100 are
entered in cell BS at different times, then cell
CS will have the following values respectively-

T = if (BS) 100. ‘A’’A*’ 30X et C5 W Torar
T T U BS N YT 316 WG W 75, 150 &
100 3 wfae g, &t ¥ C5 o wmmor: Frafafaa

(a) Placeholders/<Teeed

(b) Auto Layout/sTigl #1377

(c) Textholders/Zezeieed

(d) Objectholders/3issaelced (a)

126. Transition effects are applicable for

e T LT

(a) Text (b) Slide
(c) Images
(d) On any object of the slide (b)

127.

128.

129.

130.

131.

132,

e

Images can be set to data type in

MS Access.
MS Access W 3o (Bfgar)
2T eREY (YR ) W A fwar s wemar &)

(a) People (b) OLE

(c) Hyperlink (d) Memo (b)
The basic components of a form are called:
T WY & JAd 3Ta9d HEed 8

(a) Objects (b) Table

(c) Record (d) Controls (d)
How to enter password from MS Access

database?

THUH TEE & SETed § urEas S & fa
T HwIN?

(a) Insert — Security —> Set database password
(b) Tools — Security — Set database password

(¢) View — Security — Set database password

(d) Data — Security — Set database password (b)

The devices used to convert a printed image
or text into digital form and a digital image or
text into printed form are, respectively,

Torelt o0 gu fom o1 2ol Tefemr wu Hqar
fseca i N wEr i oo &
T vge sueRtor W €,

(a) Scanner and printer/@&hR & fo=x

(b) Printer and scanner/fi=X a @R

(c) Plotter and Printer/@&iiex 9 =X

(d) Printer and Plotter/f3=xX & wifex (a)

The electric pulse generated by a system
clock is called-

T foen (wonelt) WSt gt s fam

(TR ) Tl () WY T e §-
(a) Click/frr (b) Cycle/dTéwat
(c) Tick/few (d) Hertz/gSl (b)

The industry standard designed to supply
electrical power and to establish connections
and communication between computer
peripheral devices and computers is:

TR & URH SUERUl § HEgeT & W
ey wifrd & qer Warg & e @ fagd

wifs =t angfd & forg arRrenfeae e dedt
A& & '

(a) IEEE standard '(b) Peripheral standards
(c) USB (d) ASCII (c)

I
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13S.

136.

137,

138.

139,

140,

134.

133. How many symbols does the hexadecimal

system use?

SreyrsTuT ( Famrefaner ) wone feha werent

( fideret ) @t SuanT WAt 872

(a) 6 (b) 10 (c) 16 (d) 60 (c)

To convert a decimal number to octal, we do

YT T T Sifaee § uitafda @ & fa,

T @ B

(a) Division of 8 in a decimal number/efams T
# 8 &1 oM

(b) Multiplication of 8 by a decimal number/Sf&ae
F=T Q8 & O

(c) Division of 16 in a decimal number/SfEHe TR
H 16 & 9

(d) Multiplication of 16 by a decimal number/
Sfomel =X /16 F N (a)

Subtract (1056) . from (A427)  using the

hexadecimal method.

(A427), ® ¥ (1056),, Tomrsfane vgfa |
TeTEal

(a) (A3BI1), (b) (9331),,

(c) (3711),, (d) (93D1),, (d)

Gigabyte is equal to .

Tfmarse & SET gt g

(a) 1024 byte (b) 1024 kilobytes

(c) 1024 hexabyte (d) 1024 megabytes (d)
Processed data is known.
waTfaa ST WA W 8

(a) Facts (b) Records
(c¢) Information (d) Data
(1000),'s complement is

(1000), & 2 & T ¢

(a) 0001 (b) 0101 (c) 0111
Software agents are aiso called ;
Wiredaw THe ot &g W €

(a) Transagent (b) Knowbots

(c) Blizzards (d) Softbots (d)
Two statements are given followed by two
conclusions numbered 1 and 2. You take both
the statements to be true even if there is
difference in commonly known facts. You have

to decide which of the given conclusions
definitely follows from the given statements.

()

(d) 1000 (d)

141.

142.

N wEA & A A frend | war 2 A T R

AT WA @ A ¥ i g @@ ot

FAN W WA WU AW 7w w R T

Frewat ¥ ¥ @ w frfvem w0 @ g waet &

¥ formr mar )

Statement/&HYgA;

i. All pens are pencils/@sft e, ofga 2

ii. All books are pencils/@sft fram, Wfwat #

Conclusion/fene:

I. All pens are books/@ft e fra

2. Some books are pens/F® ferame, FHem 2

(a) Only conclusion I follows/®aa frers |
faeperan 21

(b) Only conclusion II follows/®aa fr=rs 2
foeeman 21

(¢) Both conclusion I and II follow/frsrd 1 @en 2
Tl free R

(d) Neither conclusion I nor II follows/q & frend
| A & 2 e 21 (d)

Which one of the following is not a device?

Prorfafan gl § @ B @ giew T

(a) If today is Tuesday, then tomorrow will be
Wednesday/?(ﬁ TS HITEER %, al &l YA
&0l

(b) Since today is Tuesday, tomorrow will be
Wednesday/Sf% 39 HTe@R 8, F@ qHAR
Fuf

(c) Ram is not at home, so he must have gone to
the city/ TR R W &l €, FHifere & BT & T
G

(d) Rama insulted me, so I attacked his ear/TH 3
T st fRa, sfo 1 S FH W
zhen T ©)

In the given diagram circle represents police

officer, square represents strong man, triangle

represents tall man. Which area represents a

police officer who is strong but not tall?

foar i avw ¥ g fer fuaTd W AR

T &, @t wifwTe sned W wahia

&, Froger o amgHdt ) wafvia A 1 F W

a7 QR o St fo el ¥, T

& 76 ¥, ®r welia @ €7




143.

144,

145.

@) 1 ) 3 (d) 4 (b)
Seven persons X, Y, Z, P, Q, R and S are sitting
around a circular table facing the center but
not necessarily in the same order. Q. is fourth
to the left of Y. P is third to the right of X. Y is
on the immediate right of X. Z is fourth to the
right of R. R is not an immediate neighbor of
P. Who is second to the left of S?

W |fed X, Y,Z,P,Q,R q4T S Tah FH&KR
A B g W AN @ W ART T AS ¥
fFqamms i fssdawidiQy s
AT AT W =T ] P, X D I o ¥ e
Y,X & Si® IRt 3ix #1 Z,R & et ik @
<tar &1 R, P &7 3t weRdt w6 1 S & Wit
3 A T+ 8?2

(@ Q ®R (X

H is richer than J;/H, J ¥ 3wy §;
M is richer than P;/M, P ¥ 30X §;

L is as rich as J;/L, J T &t enfx €,

A is richer than H/A, H ¥ 31T #)

The decision that can be definitely
determined from the above statements is-

S o | Fifvea wv @ fraffa fear s
|FA aren frofa -

(a) J is poorer than P/J, P @ 3ifis i 2

(b) M is richer than A/M, A ¥ 31X

(c) Pisricher than L/P, L ¥ 31HR ?

(d) L is poorer than H/L, H ¥ o9 & (d)

Select the appropriate Venn diagram from A,
B, C and D.

A,B,CaD ¥ ¥ 3faa 37 3@ &1 999 *H

O
3 -3
O

(b) 2

dY (a)

(b)

146.

147,

148.

149.

—
If rectangle is called circle, circle js called

point, point is called triangle and triangle js
called square, then the shape of circle will be.

aﬁamaﬁqamaﬁ,qaaﬁrﬁg,ﬁa
! fasger e P @t &t e o A o |
T BT |
(a) Rectangle/3™ad (b) Circle/ga

(c) Triangle/fAyqsi (d) Dot/fazg (d)
A statement is given followed by two
assumptions numbered I and II. Consider the

statement and decide which assumption s
implied.

UF T % AW S gAE 1w 2 i mw

?1 Fgw W faum &t a9r 79 wifve i @ o

gaiaE fifga #1

Statements/&h9qT :

We should use Khadi clothes.

B @I 9 &1 S9F S =)

Forecast/Jalqar :

1. Khadi cloth is not injurious to health/@& &
@ & o wifere Te 2

2. Khadi cloth is cheaper than other cloth/@m}
I G TE W G 2

(a) Only assumption I is implicit/&aa Yai{dM |
fafea 21

(b) Only assumption Il is implicit/®ae QaTTHA 2
fafea &1

(c) Both Assumption I and Il are implicitfﬂ:aﬁ'qﬁ
1 qen 2 <A fafea 21

(d) Neither assumption I nor II is implicit/d &
qai9H | ue | & 2 fafed =1 (a)

Four friends are sitting in a square. C is on
the right of B and A is on the left of B. Who is
on the right of C?

=R firg ww ot & 43 §1 B @ QR C 7 B
A A $IC S TR IR 7

(a) B b)D (c) A (d) C (b)
From the given four alternative figures (@)
(b), (c) and (d), select the correct mirror image
of the figure F.

& T ww dsfees st (a), (), (¢) T
(d) ¥ & srfa F & et guur wfafera 0 =@
Ea1i ]
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150. A question and two statements numbered 1
and 2 are given below it. You have to decide
whether the given statements are sufficient

(b)

(d)

>

>

to answer the given question.

T YR 99T 3 YT 1 7T 2 36 et fqy
21 YR TE 7 w0 ¢ TR we ° faw e
WSW WY W SW e & foT vEiw g

(d)

How many sons does X have?

X & fram qx 87

Statement/&h9T

1. P has only two brothers E and W/P & &aa
T WE E q W B

2. Pis the only daughtzer of Q and X/Q &1 X
1 3thelt T P R

(a) Only statement 1 is sufficient/ac &9 |
T 2

(b) Only statement 2 is sufficient/&a@ FUR 2
T 21

(c) Both the statements 1 and 2 are necessary/
TH FUA | qA 2 AETEE 2

(d) Both the statements | and 2 are not sufficient/

TR ®YA | e 2 TETE el ) (c)




